—— Il Kawasaki Motors Corp., US.A. ——

Irvine, California 92718-2016

VOYAGER CHROME CALIPER COVERS PN K53002-020A

PN

303144
301148
560010
304140
770070
770075
§60532
760533
660235
660240

o
s NS ES T |_,
=

THEIR HOSES FOR NOW.

MI 060374

LDECEMBER 1987 REV

INSTALL THE CHROME SNAPCAPS.
NOTE: IF YOU ALREADY HAVE VOYAGER FORK LEG LIGHTS ON YOUR BIKE, OR IF YOU ARE MOUNTING

THEM IN COMNJUNCTION WITH THE CALIPER COVERS, NOTE THAT THE FORK LIGHT BRACKET REPLACES
THE 1/8" THICK SPACERS THAT NORMALLY FIT BENEATH THE CALIPER COVER MOUNT BRACKET.

ACCESSORIES

DESCRIPTION

10 x 1.25 x 50mm HEX HEAD CAP SCREW, PLATED
3/8 x 3/4 x .030" FLATWASHER, PLATED

13/32 x 3/4 x 1/8" SPACER, PLATED

8-32 x 3/8" PHILLIPS PANHEAD SCREW, PLATED
13mm SNAPCAP, CHROME

13mm SNAPCAP WASHER

VOYAGER CALIPER COVER ASSEMBLY, LH

VOYAGER CALIPER COVER ASSEMBLY, RH

VOYAGER CALIPER COVER MOUNT WELLMENT LH, BPC
VOYAGER CALIPER COVER MOUNT WELODMENT RH, BPC

PLEASE READ ALL INSTRUCTIONS BEFORE STARTING INSTALLATION.

1. PLACE YOUR MOTORCYCLE ON ITS CENTERSTAND. LOCATE AND REMOVE THE FOUR 10mm BOLTS (TWO ON
EACH SIDE) THAT FASTEN THE BRAKE CALIPERS TO THE FORK LEGS. LET THE CALIPERS HANG BY

2, POSITION THE LEFT AND RIGHT MOUNTING WELDMENTS ON THE FORK LEGS AS SHOWH, REPOSITION
THE CALIPERS, AND THEN FASTEN CALIPER AND MOUNT WITH THE 10 x 50mm BOLTS, 3/8" FLAT-
WASHERS, AND 1/8" SPACERS PROVIDED. TIGHTEN THESE FOUR BOLTS SECURELY (3.3 KG-M, 24 FT/LBS).

3. POSITION THE LEFT AND RIGHT CALIPER COVERS ON THE MOUNTS AS SHOWN, AND THEN FASTEN WITH
THE 8-32 SCREWS AND SMNAPCAP WASHERS PROVIDED, TIGHTEN THESE SCREWS SECURELY AND THEN
INSTALLATION IS5 NOW COMPLETE.

),

FORM 65A00 O0a




